Overtime Reports

Health Districts included
 Department of Corrections included
 Board of Medicine included
 Veterans Services included

5. Health and Welfare Has included with their regular agenda item request

6. Department of Labor included

7. Idaho State Police Did not have overtime paid this pay period

Public Health Districts' Overtime Report
For FLSA Exempt Employees Coding Overtime to COVID-19 Activity
For the Pay Period 05/03/2020-05/16/2020

AGENCY TITLE	EMPLOYEE NAME	CLASS CODE	CLASS CODE TITLE	EARN_BEN_DED CODE	PAY RATE	TOTAL HOURS	TOTAL AMOUNT	PAY DATE	TOTAL EXEMPT COMP HOURS	VAC LEAVE BALANCE HOURS
PANHANDLE HEALTH DISTRICT I	GAVIN, KRISTINA M.	07572	NURSE, REGISTERED MA	CVC	34.24	3.00	102.72	May 29, 2020	0.0	92.7
PANHANDLE HEALTH DISTRICT I	HOYER, KATHERINE C.	05578	PUBLIC INFO OFCR	CVC	27.68	6.50	179.92	May 29, 2020	20.0	74.0
PANHANDLE HEALTH DISTRICT I	HUNT, HILLARY	02355	HEALTH EDUCATION SPE	CVC	20.31	1.60	32.50	May 29, 2020	16.0	55.9
PANHANDLE HEALTH DISTRICT I	HYLSKY, DAVID E.	07232	EPIDEMIOLOGIST, STAF	CVC	29.74	6.00	178.44	May 29, 2020	2.0	168.6
PANHANDLE HEALTH DISTRICT I	KETNER, ERIK P.	07515	PUBLIC HEALTH PRG MG	CVC	37,22	2.00	74,44	May 29, 2020	0.0	252.3
PANHANDLE HEALTH DISTRICT I	KOLBERG, KATHRYN J.	07514	PUBLIC HEALTH PRG MG	CVC	31.11	8.00	248.88	May 29, 2020	0.5	108.7
PANHANDLE HEALTH DISTRICT I	PEPPIN, JASON D.	07548	ENV HLTH SPEC SR	CVC	28.08	7.00	196.56	May 29, 2020	0.0	307.5
PANHANDLE HEALTH DISTRICT I	SWOPE, NICHOLAS W.	07515	PUBLIC HEALTH PRG MG	CVC	35.41	11.50	407.22	May 29, 2020	8.6	117.8
PANHANDLE HEALTH DISTRICT I	WHITE, LAUREN S.	02355	HEALTH EDUCATION SPE	CVC	21.54	5.00	107.70	May 29, 2020	0.0	84.3
NORTH CENTRAL HEALTH DISTRICT II	DANIEL, MINDY A.	07606	NURSE, REGISTERED	CVC	28.83	0.80	23.06	May 29, 2020	2.0	99.2
NORTH CENTRAL HEALTH DISTRICT II	JEANBLANC, RACHAELL L.	04242	FINANCIAL MANAGER	CVC	37.00	1.00	37.00	May 29, 2020	0.0	77.5
NORTH CENTRAL HEALTH DISTRICT II	LARSON, MICHAEL E.	21327	PUBLIC HLTH DIV ADMN	CVC	42.80	12.50	535.00	May 29, 2020	12.2	82.6
NORTH CENTRAL HEALTH DISTRICT II	MACKE, TARA L.	05578	PUBLIC INFO OFCR	CVC	35.28	5.50	194.04	May 29, 2020	0.0	267.6
NORTH CENTRAL HEALTH DISTRICT II	OLSON, ANNA M.	07572	NURSE, REGISTERED MA	CVC	35.64	10.50	374.22	May 29, 2020	4.0	240.0
NORTH CENTRAL HEALTH DISTRICT II	SPRENGER, KAYLA M.	07515	PUBLIC HEALTH PRG MG	CVC	33.78	16.00	540.48	May 29, 2020	0.0	183.4
SOUTHWEST HEALTH DISTRICT III	ANDERSON, ASHLEY M.	02355	HEALTH EDUCATION SPE	CVC	22,46	8.50	190.91	May 29, 2020	11.5	110.0
SOUTHWEST HEALTH DISTRICT III	BERG, KELLY A.	07548	ENV HLTH SPEC SR	CVC	27.66	2.00	55.32	May 29, 2020	0.2	190.5
SOUTHWEST HEALTH DISTRICT III	BOWMAN, RICKY E.	07515	PUBLIC HEALTH PRG MG	CVC	35.00	3.00	105.00	May 29, 2020	13.5	133.2
SOUTHWEST HEALTH DISTRICT III	COATNEY, CLAUDIA M.	02355	HEALTH EDUCATION SPE	CVC	22,45	3.50	78,58	May 29, 2020	0.0	55.0
SOUTHWEST HEALTH DISTRICT III	D'ORAZIO, FRANCES E.	07574	NURSE, REGISTERED SE	CVC	28.63	3.00	85.89	May 29, 2020	0.0	24.4
SOUTHWEST HEALTH DISTRICT III	FRENCH, ADRIANA V.	07572	NURSE, REGISTERED MA	CVC	32.55	3.00	97.65	May 29, 2020	9.5	101.7
SOUTHWEST HEALTH DISTRICT III	HOMOLKA, KAILEE J.	07606	NURSE, REGISTERED	CVC	24.33	4.80	116.78	May 29, 2020	0.0	61.3
SOUTHWEST HEALTH DISTRICT III	KIESTER, MITCHEL J.	07514	PUBLIC HEALTH PRG MG	CVC	35.34	5.30	187.30	May 29, 2020	0.0	335.9
SOUTHWEST HEALTH DISTRICT III	MALESHA, SURABHI S.	02355	HEALTH EDUCATION SPE	CVC	22.07	1.50	33.11	May 29, 2020	0.0	40.0
SOUTHWEST HEALTH DISTRICT III	MATHEIS, LEAH M.	01730	IT INFO SYS AND INFR	CVC	26.33	12.50	329.13	May 29, 2020	8.9	61.9
SOUTHWEST HEALTH DISTRICT III	MORGAN, ELEYSE M.	07232	EPIDEMIOLOGIST, STAF	CVC	24.33	8.50	216.75	May 29, 2020	8.5	74.7
SOUTHWEST HEALTH DISTRICT III	MORRISON, MARY KAY	05141	HUMAN RESOURCE SPEC	CVC	25.00	17.20	430.00	May 29, 2020	0.0	194.5
SOUTHWEST HEALTH DISTRICT III	PAGE, DEAN A.	01742	IT MANAGER II	CVC	38.54	5.50	211.97	May 29, 2020	19.5	336.0
SOUTHWEST HEALTH DISTRICT III	SHERWOOD, DOUG M.	01730	IT INFO SYS AND INFR	CVC	26.33	1.00	26.33	May 29, 2020	2.0	188.7
SOUTHWEST HEALTH DISTRICT III	SMITH, MOLLY A.	02356	HEALTH EDUCATION SPE	CVC	26.10	6.00	156.60	May 29, 2020	12.3	116.0
SOUTHWEST HEALTH DISTRICT III	WILLIAMS, KATRINA M.	05272	MANAGEMENT ASSISTANT	CVC	21.00	8.50	178.50	May 29, 2020	0.0	127.4
SOUTHWEST HEALTH DISTRICT III	WILSON, TERRY J.	03666	PLANNER	CVC	30.56	8.00	244.48	May 29, 2020	12.5	269.5
CENTRAL HEALTH DISTRICT IV	ANTONUCCI, JOSEPH A.	07548	ENV HLTH SPEC SR	CVC	25.32	6.50	164.58	May 29, 2020	10.0	214.3
CENTRAL HEALTH DISTRICT IV	ATKINS, BRANDON W.	07515	PUBLIC HEALTH PRG MG	CVC	35.03	3.50	122.61	May 29, 2020	0.0	153.0
CENTRAL HEALTH DISTRICT IV	BARATTA, SADIE K.	07232	EPIDEMIOLOGIST, STAF	CVC	24.33	1.80		May 29, 2020	0.0	67.6
CENTRAL HEALTH DISTRICT IV	BODINE, NATALIE H.	07515	PUBLIC HEALTH PRG MG	CVC	31.25	12.00		May 29, 2020	1.0	224.7
CENTRAL HEALTH DISTRICT IV	CARR ATWOOD, RYAN N	. 07203	CLINICAL SPECIALIST	CVC	42.00	1.00		May 29, 2020	0.0	52.7
CENTRAL HEALTH DISTRICT IV	HASKELL, LINDSAY M.	07232	EPIDEMIOLOGIST, STAF	CVC	25.32	27.50	765.88	May 29, 2020	3.5	163.1
CENTRAL HEALTH DISTRICT IV	KLINGINSMITH, SAVANN	07203	CLINICAL SPECIALIST	CVC	45.00	1.90		May 29, 2020	1.7	48.9
CENTRAL HEALTH DISTRICT IV	LINK, KIMBERLY A.	07515	PUBLIC HEALTH PRG MG	CVC	33.58	37.40	1,255.89	May 29, 2020	39.1	274.9
CENTRAL HEALTH DISTRICT IV	MYRON, CHRISTINE V.	05578	PUBLIC INFO OFCR	CVC	31.69	14.30	453.17	May 29, 2020	0.0	76.3
CENTRAL HEALTH DISTRICT IV	RAMOS, MARIA E.	03666	PLANNER	CVC	24.33	4.00	97.32	May 29, 2020	1.0	83.8
CENTRAL HEALTH DISTRICT IV	RENO, MICHAEL H.	07515	PUBLIC HEALTH PRG MG	CVC	42.70	4.00	170.80	May 29, 2020	0.0	258.0
CENTRAL HEALTH DISTRICT IV	RICE, JOYCE L.	07232	EPIDEMIOLOGIST, STAF	CVC	27.60	4.00	110.40	May 29, 2020	1.0	117.1
CENTRAL HEALTH DISTRICT IV	SMITH, LAURA A.	07515	PUBLIC HEALTH PRG MG	CVC	33.50	23.00	770.50	May 29, 2020	22.1	68.1
CENTRAL HEALTH DISTRICT IV	THOMPSON, CASSANDRA	05275	BUSINESS OPERATIONS	CVC	24.33	2.50	60.83	May 29, 2020	6.5	233.9
CENTRAL HEALTH DISTRICT IV	WARD, ZACHARY F.	02356	HEALTH EDUCATION SPE	CVC	25.61	13.50	345.74	May 29, 2020	1.0	40.6
SOUTH CENTRAL PUBLIC HEALTH DISTRICT V	BAUMAN, MELINDA	07606	NURSE, REGISTERED	CVC	26.22	3.50	91.77	May 29, 2020	0.0	167.8
SOUTH CENTRAL PUBLIC HEALTH DISTRICT V	MAXWELL, TANIS	07514	PUBLIC HEALTH PRG MG	CVC	31.67	4.50	142.52	May 29, 2020	1.0	189.1
EASTERN IDAHO HEALTH DISTRICT VII	ANDERSON, KENNETH S.	07232	EPIDEMIOLOGIST, STAF	CVC	32.33	0.50	16.17	May 29, 2020	0.00	291.40
EASTERN IDAHO HEALTH DISTRICT VII	POWELL, JODIE	02356	HEALTH EDUCATION SPE	CVC	23.40	7.40	173.16	May 29, 2020	0.00	51.40
EASTERN IDAHO HEALTH DISTRICT VII	TAYLOR, ROSEMARIE M.	02356	HEALTH EDUCATION SPE	CVC	27.05	8.50	229.93	May 29, 2020	0.00	240.00

Idaho Department of Correction - FLSA S - "CVC" Paid Overtime and COMP/VAC Balances As of Pay Date 5/29/20

AGENCY	EMPLOYEE NAME	CLASS CODE	CLASS CODE TITLE	EARN_BEN_DED CODE	PAY RATE T	OTAL HOURS	TOTAL AMOUNT	AS OF PAY DATE	FUND CODE	TOTAL EXEMPT COMP HOURS	VAC LEAVE BALANCE HOURS
EPARTMENT OF CORRECTION	ANDERSON, CHRISTOPHER V.	09355	P&P SECTION SUPERVISOR	CVC	\$ 27.00	1.0	\$ 27.00	May 29, 2020	0001	201.0	336
EPARTMENT OF CORRECTION	ANDRICH, JOHN P.	09355	P&P SECTION SUPERVISOR					May 29, 2020		92.0	288
EPARTMENT OF CORRECTION	ANKRUM II, DARROW H.	01741	IT MANAGER I	CVC	\$ 26.43	23.3	\$ 615.83	May 29, 2020	0001	0.0	87
EPARTMENT OF CORRECTION	ARGUELLO, JOSE O.	09202	CORR MGR 2	cvc	\$ 29.71	2.0	\$ 60.42	May 29, 2020	0349	36.0	284
EPARTMENT OF CORRECTION	BACON, RANDALL R.	09355	P&P SECTION SUPERVISOR	CVC	\$ 26.24	3.0	\$ 78.72	May 29, 2020	0284	0.0	227
EPARTMENT OF CORRECTION	BAIRD, NICHOLAS R.	09202	CORR MGR 2					May 29, 2020		0.0	74
EPARTMENT OF CORRECTION	BANTA, KELSI	09355	P&P SECTION SUPERVISOR					May 29, 2020		1.0	81
EPARTMENT OF CORRECTION	BEHRENS RENEE D	09355	P&P SECTION SUPERVISOR					May 29, 2020		0.0	77
DEPARTMENT OF CORRECTION		09355	P&P SECTION SUPERVISOR					May 29, 2020		117.0	325
DEPARTMENT OF CORRECTION		05134	HUMAN RESOURCE SPEC, SR	CVC	\$ 27.75	19.0	\$ 527.26	May 29, 2020	0001	0.0	95
DEPARTMENT OF CORRECTION		05134	HUMAN RESOURCE SPEC. SR	CVC	\$ 31.23	19.8	\$ 618.35	May 29, 2020		1.3	188
DEPARTMENT OF CORRECTION	CARPENTER RHONDA I	01716	IT SOFTWARE ENGINEER III					May 29, 2020		0.0	89
DEPARTMENT OF CORRECTION		09202	CORR MGR 2	CVC	\$ 33.90	53.0	\$ 1,796.70	May 29, 2020	0001	0.0	275
DEPARTMENT OF CORRECTION		01730	IT INFO SYS AND INFR FNG II	CVC	\$ 22.13	16.0		May 29, 2020		0.5	113
DEPARTMENT OF CORRECTION		09202	CORR MGR 2	CVC	\$ 32.72	5.5	\$ 179.96	May 29, 2020		0.0	209
DEPARTMENT OF CORRECTION		09355	P&P SECTION SUPERVISOR	010	V 02.72	0.0	ų 115.50	May 29, 2020		6.0	145
DEPARTMENT OF CORRECTION		09355	P&P SECTION SUPERVISOR					May 29, 2020		0.0	336
DEPARTMENT OF CORRECTION		01731	IT INFO SYS AND INFR ENG III					May 29, 2020		0.0	329
DEPARTMENT OF CORRECTION		01731	IT SOFTWARE ENGINEER III	cvc	\$ 30.60	8.0	\$ 244.80	May 29, 2020	0001	0.0	77
DEPARTMENT OF CORRECTION		09355	P&P SECTION SUPERVISOR	CVC	\$ 29.10	1.0		May 29, 2020		0.0	319
DEPARTMENT OF CORRECTION		05134	HUMAN RESOURCE SPEC. SR	CVC	\$ 31.23	52.5		May 29, 2020		4.5	134
DEPARTMENT OF CORRECTION		09355	P&P SECTION SUPERVISOR	CVC	9 31.23	32.3	9 1,009.00	May 29, 2020	0001	9.5	119
DEPARTMENT OF CORRECTION		01731	IT INFO SYS AND INFR ENG III					May 29, 2020		6.5	213
DEPARTMENT OF CORRECTION		01742	IT MANAGER II	cvc	\$ 33.15	13.1	\$ 434.27	May 29, 2020	0001	0.0	336
DEPARTMENT OF CORRECTION		01716	IT SOFTWARE ENGINEER III	CVC	\$ 33.62	8.0		May 29, 2020		0.0	45
DEPARTMENT OF CORRECTION		05134	HUMAN RESOURCE SPEC, SR	CVC	\$ 33.02	0.0	\$ 200.90	May 29, 2020	0001	0.0	30
DEPARTMENT OF CORRECTION		09355	P&P SECTION SUPERVISOR					May 29, 2020		4.7	268
DEPARTMENT OF CORRECTION		09208	CORRECTIONAL LIEUTENANT					May 29, 2020		0.0	303
DEPARTMENT OF CORRECTION		09208	IT MANAGER II	CVC	\$ 36.66	14.8	\$ 542.57		0004	209.8	192
DEPARTMENT OF CORRECTION		01742	P&P SECTION SUPERVISOR	CVC	\$ 29.60	31.4		May 29, 2020		119.7	328
DEPARTMENT OF CORRECTION		02142	FOOD SVC OPERATIONS MGR	CVC		1.0		May 29, 2020		3.0	320
DEPARTMENT OF CORRECTION		02142	P&P SECTION SUPERVISOR	CVC	\$ 31.49	1.0	\$ 31.49	May 29, 2020 May 29, 2020	0001	57.2	20
				0.10							
DEPARTMENT OF CORRECTION		01731	IT INFO SYS AND INFR ENG III	CVC	\$ 32.46	5.0	\$ 162.30	May 29, 2020	0001	10.0	240
DEPARTMENT OF CORRECTION			P&P SECTION SUPERVISOR	0.10				May 29, 2020			
DEPARTMENT OF CORRECTION		01715	IT SOFTWARE ENGINEER II	CVC	\$ 24.32	10.3		May 29, 2020		9.8	171
DEPARTMENT OF CORRECTION		02142	FOOD SVC OPERATIONS MGR	CVC	\$ 25.58	2.1		May 29, 2020		1.4	233
DEPARTMENT OF CORRECTION		09202	CORR MGR 2	CVC	\$ 33.48	12.7	\$ 425.19	May 29, 2020	0001	41.3	177
DEPARTMENT OF CORRECTION		09355	P&P SECTION SUPERVISOR					May 29, 2020		0.0	285
DEPARTMENT OF CORRECTION		09355	P&P SECTION SUPERVISOR					May 29, 2020		83.0	227
DEPARTMENT OF CORRECTION		01731	IT INFO SYS AND INFR ENG III					May 29, 2020		81.7	240
DEPARTMENT OF CORRECTION		09355	P&P SECTION SUPERVISOR					May 29, 2020		21.5	201
DEPARTMENT OF CORRECTION		09202	CORR MGR 2	CVC	\$ 34.86	16.4		May 29, 2020		0.4	258
DEPARTMENT OF CORRECTION		05172	HUMAN RSRCS UNIT SUPV	CVC	\$ 35.71	70.6		May 29, 2020		1.0	267
DEPARTMENT OF CORRECTION		09355	P&P SECTION SUPERVISOR	CVC	\$ 30.87	16.0	\$ 493.92	May 29, 2020	0001	4.0	72
DEPARTMENT OF CORRECTION		09355	P&P SECTION SUPERVISOR					May 29, 2020		10.0	224
DEPARTMENT OF CORRECTION		05134	HUMAN RESOURCE SPEC, SR	CVC	\$ 29.13	14.2	\$ 413.65	May 29, 2020	0001	0.0	96
DEPARTMENT OF CORRECTION	TAYLOR, KARLA M.	09355	P&P SECTION SUPERVISOR					May 29, 2020		18.5	336
DEPARTMENT OF CORRECTION	TAYLOR, LAN J.	09355	P&P SECTION SUPERVISOR					May 29, 2020		0.0	325
DEPARTMENT OF CORRECTION	THOMAS, MATTHEW L.	09355	P&P SECTION SUPERVISOR					May 29, 2020		8.0	287
DEPARTMENT OF CORRECTION	THOMPSON, JARRED E.	09355	P&P SECTION SUPERVISOR					May 29, 2020		0.0	243
DEPARTMENT OF CORRECTION		01742	IT MANAGER II	CVC	\$ 42.94	1.5	\$ 64.41	May 29, 2020	0001	0.5	284
EPARTMENT OF CORRECTION		01730	IT INFO SYS AND INFR ENG II					May 29, 2020		3.7	240
EPARTMENT OF CORRECTION		01744	IT MANAGER IV	CVC	\$ 48.27	46.5	\$ 2 244 56	May 29, 2020	0001	0.0	240
				040	φ 40.21	40.5	φ 2,244.30		0001	1.0	262
DEPARTMENT OF CORRECTION		01715	IT SOFTWARE ENGINEER II	0.10				May 29, 2020			
EPARTMENT OF CORRECTION		09202	CORR MGR 2	CVC	\$ 35.59	17.0	\$ 605.03	May 29, 2020	UU01	17.5	287
DEPARTMENT OF CORRECTION		09355	P&P SECTION SUPERVISOR					May 29, 2020		0.0	235
DEPARTMENT OF CORRECTION		09202	CORR MGR 2	CVC	\$ 33.00	3.3		May 29, 2020		1.1	230
DEPARTMENT OF CORRECTION	ZELENKA, JAMES B.	09355	P&P SECTION SUPERVISOR	CVC	\$ 25.86	3.0	\$ 77.58	May 29, 2020	0001	75.0	266
DEPARTMENT OF CORRECTION	ZIEGLER, DANIEL P.	09355	P&P SECTION SUPERVISOR					May 29, 2020		0.0	239

\$ 16,371.14

			ВО	ARD OF MEDIC	TNF						1
AGENCY TITLE	EMPLOYEE NAME	CLASS CODE	CLASS CODE TITLE	EARN_BEN_DED CODE		TOTAL AMOUNT	PAY DATE	PAYROLL NUMBER	TOTAL EXEMPT COMP HOURS	VAC LEAVE BALANCE HOURS	CREDITED STATE SERVICE HOURS
STATE BOARD OF MEDICINE	KILMINSTER-HADLEY, SHASTA J.	05912	ATTORNEY 2	CVC	1.00	\$44.78	Apr 3, 2020	20007	1.00	112.90	25,330.20
STATE BOARD OF MEDICINE	TAMBLING, PHYLLIS A.	07640	HEALTH PROGRAM MANAG	CVC	28.50	\$733.88	Apr 3, 2020	20007	16.00	120.80	3,645.10
STATE BOARD OF MEDICINE	VOYCE, IRINA V.	05272	MANAGEMENT ASSISTANT	cvc	4.00	\$82.00	Apr 3, 2020	20007	0.00	43.20	11,684.80
STATE BOARD OF MEDICINE	WICKHAM, ANGELA J.	20903	ASSOC DIR-MEDICINE B	cvc	30.00 63.50	\$1,129.80 \$1,990.46	Apr 3, 2020 Apr 3, 2020 Total	20007	23.00 40.00	318.60 595.50	33,842.50
STATE BOARD OF MEDICINE	KILMINSTER-HADLEY, SHASTA J.	05912	ATTORNEY 2	cvc	0.00	\$0.00	Apr 17, 2020	20008	1.00	107.40	25,397.20
STATE BOARD OF MEDICINE	TAMBLING, PHYLLIS A.	07640	HEALTH PROGRAM MANAG	cvc	17.50	\$450.63	Apr 17, 2020	20008	16.00	126.40	3,742.60
STATE BOARD OF MEDICINE	VOYCE, IRINA V.	05272	MANAGEMENT ASSISTANT	cvc	2.60	\$53.30	Apr 17, 2020	20008	0.00	48.90	11,767.40
STATE BOARD OF MEDICINE	WICKHAM, ANGELA J.	20903	ASSOC DIR-MEDICINE B	cvc	47.50	\$1,788.85	Apr 17, 2020	20008	23.00	328.90	33,970.00
					67.60	\$2,292.78	Apr 17, 2020 Total		40.00	611.60	
STATE BOARD OF MEDICINE	KILMINSTER-HADLEY, SHASTA J.	05912	ATTORNEY 2	CVC	0.00	\$0.00	May 1, 2020	20009	1.00	112.90	25,465.70
STATE BOARD OF MEDICINE	TAMBLING, PHYLLIS A.	07640	HEALTH PROGRAM MANAG	CVC	8.50	\$218.88	May 1, 2020	20009	16.00	131.50	3,831.10
STATE BOARD OF MEDICINE	VOYCE, IRINA V.	05272	MANAGEMENT ASSISTANT	CVC	2.50	\$51.25	May 1, 2020	20009	0.00	54.60	11,849.90
STATE BOARD OF MEDICINE	WICKHAM, ANGELA J.	20903	ASSOC DIR-MEDICINE B	CVC	19.50 30.50	\$734.37 \$1,004.50	May 1, 2020 May 1, 2020	20009	23.00 40.00	336.00 635.00	34,069.50
STATE BOARD OF MEDICINE	KILMINSTER-HADLEY, SHASTA J.	05912	ATTORNEY 2	cvc	0.00	\$0.00	May 15, 2020	20010	1.00	117.70	25,525.70
STATE BOARD OF MEDICINE	TAMBLING, PHYLLIS A.	07640	HEALTH PROGRAM MANAG	cvc	4.00	\$103.00	May 15, 2020	20010	16.00	136.30	3,915.10
STATE BOARD OF MEDICINE	VOYCE, IRINA V.	05272	MANAGEMENT ASSISTANT	cvc	0.00	\$0.00	May 15, 2020	20010	0.00	60.10	11,929.90
STATE BOARD OF MEDICINE	WICKHAM, ANGELA J.	20903	ASSOC DIR-MEDICINE B	CVC	20.00 24.00	\$753.20 \$856.20	May 15, 2020	20010	23.00 40.00	336.00 650.10	34,169.50
STATE BOARD OF MEDICINE	WILMINGTED LIADIES CHACTA I	05912	ATTORNEY 2	O/C	0.00	\$0.00	May 15, 2020	20011	1.00	121.70	25 575 70
	KILMINSTER-HADLEY, SHASTA J. TAMBLING, PHYLLIS A.	07640	HEALTH PROGRAM MANAG	cvc	7.00	\$180.25	May 29, 2020 May 29, 2020	20011	16.00	141.30	25,575.70 4,002.10
STATE BOARD OF MEDICINE	-	05272		CVC	0.00	\$0.00	, ,	20011	0.00	63.10	12,009.90
	WICKHAM, ANGELA J.	20903	ASSOC DIR-MEDICINE B	CVC	18.50	\$696.71	May 29, 2020 May 29, 2020	20011	23.00	336.00	34,268.00
STATE BOARD OF MEDICINE	WICKHAM, ANGELA J.	20903	ASSOC DIR-MEDICINE B	CVC	25.50	\$876.96	May 29, 2020	20011	40.00	662.10	34,266.00
STATE BOARD OF MEDICINE	KILMINSTER-HADLEY, SHASTA J.	05912	ATTORNEY 2	cvc	0.00	\$0.00	Jun 12, 2020	20012			
STATE BOARD OF MEDICINE	TAMBLING, PHYLLIS A.	07640	HEALTH PROGRAM MANAG	cvc	7.00	\$180.25	Jun 12, 2020	20012			
STATE BOARD OF MEDICINE	VOYCE, IRINA V.	05272	MANAGEMENT ASSISTANT	cvc	0.00	\$0.00	Jun 12, 2020	20012			
STATE BOARD OF MEDICINE	WICKHAM, ANGELA J.	20903	ASSOC DIR-MEDICINE B	cvc	17.00 24.00	\$640.22 \$820.47	Jun 12, 2020 Jun 12, 2020	20012	0.00	0.00	

235.10 \$7,841.37 Grand Total

Division of Veterans Services COVID-19 FLSA Consideration Cash Compensation to FLSA Exempt Employees March 18, 2020

EMPLOYEE NAME	CLASS CODE TITLE	FLSA TITLE	TOTAL EXEMPT COMP HOURS	SALARY	FUNDING	Est. OT Hours	4/17/2020		5/1/2020		5/15/2020		5/29/2020		Est. Salary	Est. Benefits	Total Estimated OT Costs	General Funds (0001)	Federal Funds (0348)	Miscellaneou s Receipts (0349)	Endowment (0481-24)	Total Double Check
ARTHUR, KIA M.	SOCIAL WORKER	PROFESSIONAL EXEMPT	5.1	\$32.62	.5-0348, .1-0349	12.00									\$391.44	\$96.05	\$487.49		\$406.24	\$81.25		\$487.49
BARKLEY, TAYLOR L.	MAINT & OPERTNS SUPV	ADMINISTRATIVE EXEMPT	14.5	\$28.72	348	25.00					1.00	28.72	2.00	57.44	\$718.00	\$176.18	\$894.18		\$894.18			\$894.18
BROCKMAN, TERESA E.	VOLUNTEER SRVCS/ACT COOR	ADMINISTRATIVE EXEMPT	0.0	\$33.66	349	25.00	2.30	77.42							\$841.50	\$206.49	\$1,047.99			\$1,047.99		\$1,047.99
CARLSON, BETTY V.	FOOD SVC OPERATIONS MGR	ADMINISTRATIVE EXEMPT	3.0	\$23.09	349	25.00	12.50	288.63	14.00	323.26	14.50	334.81	6.00	138.54	\$577.25	\$141.65	\$718.90			\$718.90		\$718.90
DARON, JO ANN R.	VOLUNTEER SRVCS COORD	ADMINISTRATIVE EXEMPT	34.6	\$24.29	348	25.00	4.60	111.73	5.50	133.60	3.00	72.87			\$607.25	\$149.01	\$756.26		\$756.26			\$756.26
GARNER, JANA G.	SOCIAL WORKER	PROFESSIONAL EXEMPT	64.9	\$28.77	.40-348, .60-349	25.00			1.40	40.28	0.60	17.26			\$719.25	\$176.49	\$895.74		\$358.30	\$537.44		\$895.74
GIBBS, KALEB	PROGRAM SPECIALIST	ADMINISTRATIVE EXEMPT	0.0	\$24.38	349	25.00									\$609.50	\$149.56	\$759.06			\$759.06		\$759.06
GODFREY, CHAD R.	FOOD SVC OPERATIONS MGR	ADMINISTRATIVE EXEMPT	0.0	\$25.62	349	25.00					4.50	115.29	3.00	76.86	\$640.50	\$157.17	\$797.67			\$797.67		\$797.67
HENDERSON, R T.	NURSING SVC DIR-SHN/ISVH	PROFESSIONAL EXEMPT	16.5	\$38.53	348	25.00	9.50	366.04	9.00	346.77	15.50	597.22	13.00	500.89	\$963.25	\$236.36	\$1,199.61		\$1,199.61			\$1,199.61
HOFFMAN, THOMAS J.	SOCIAL WORKER	PROFESSIONAL EXEMPT	0.0	\$29.80	349	25.00	7.50	223.50					2.00	59.60	\$745.00	\$182.81	\$927.81			\$927.81		\$927.81
HUNTER, TAMBRA	SOCIAL WORKER	PROFESSIONAL EXEMPT	0.0	\$33.66	349	25.00									\$841.50	\$206.49	\$1,047.99			\$1,047.99		\$1,047.99
HUNZIKER, ANDREA N.	FOOD SVC OPERATIONS MGR	ADMINISTRATIVE EXEMPT	81.8	\$27.00	348	25.00	12.60	340.20	11.60	313.20	5.00	135.00	9.80	264.60	\$675.00	\$165.63	\$840.63		\$840.63			\$840.63
KINBERG, ONI Y.	SOCIAL SVCS DIR,ISVH	PROFESSIONAL EXEMPT	5.0	\$39.75	349	25.00									\$993.75	\$243.85	\$1,237.60			\$1,237.60		\$1,237.60
KNIGHT, RACHAEL	NURSING SERVICES DIR	PROFESSIONAL EXEMPT	18.5	\$43.67	348	25.00			17.50	764.23	6.00	262.02	11.50	502.21	\$1,091.75	\$267.89	\$1,359.64		\$1,359.64			\$1,359.64
LAYTON, JENNIFER	SOCIAL WORKER	PROFESSIONAL EXEMPT	0.5	\$33.66	.50-348	25.00									\$841.50	\$206.49	\$1,047.99		\$1,047.99			\$1,047.99
LEAVITT, CARRIE G.	VOLUNTEER SRVCS/ACT COOR	ADMINISTRATIVE EXEMPT	8.8	\$27.43	348	25.00	6.70	183.78	3.00	82.29	3.40	93.26	9.90	271.56	\$685.75	\$168.27	\$854.02		\$854.02			\$854.02
MOON, COLLEEN M.	QUALITY IMPROVEMENT DIR	ADMINISTRATIVE EXEMPT	6.0	\$38.30	348	25.00	25.00	957.50	17.00	651.10	14.50	555.35	9.00	344.70	\$957.50	\$234.95	\$1,192.45		\$1,192.45			\$1,192.45
PEART, JULIA E.	NURSING SVC DIR-SHN/ISVH	PROFESSIONAL EXEMPT	33.8	\$39.00	348	25.00	9.60	374.40	1.50	58.50			0.80	31.20	\$975.00	\$239.25	\$1,214.25		\$1,214.25			\$1,214.25
PEREZ, TERESA	DIETARY SVCS MGR	PROFESSIONAL EXEMPT	21.2	\$31.52	349	25.00	12.20	384.54	4.90	154.45	1.20	37.82			\$788.00	\$193.36	\$981.36			\$981.36		\$981.36
RANDALL, TALIE B.	HEALTH INFO MGR	ADMINISTRATIVE EXEMPT	0.0	\$29.78	349	25.00									\$744.50	\$182.69	\$927.19			\$927.19		\$927.19
SCHANER, CODY A.	PROGRAM SPECIALIST	ADMINISTRATIVE EXEMPT	0.0	\$33.66	348	25.00									\$841.50	\$206.49	\$1,047.99		\$1,047.99			\$1,047.99
SHARPE, DUSTIN	SOCIAL WORKER	PROFESSIONAL EXEMPT	0.0	\$28.69	349	25.00									\$717.25	\$176.00	\$893.25			\$893.25		\$893.25
STEELEY, ROSEMARIE	PROGRAM SPECIALIST	PROFESSIONAL EXEMPT	0.0	\$30.28	349	25.00	0.40	12.11				·			\$757.00	\$185.75	\$942.75			\$942.75		\$942.75
SURRATT, BARRY K.	RELIGIOUS ACTVTS COOR	ADMINISTRATIVE EXEMPT	0.0	\$30.86	.20-348, .80-349	25.00									\$771.50	\$189.31	\$960.81		\$192.16	\$768.65		\$960.81
WESTON, CHRISTOPHER A.	PROGRAM SPECIALIST	ADMINISTRATIVE EXEMPT	0.0	\$26.93	348	25.00	6.50	175.05	4.60	123.88		·			\$673.25	\$165.20	\$838.45		\$838.45	·		\$838.45
				\$783.67	TOTALS	612.00	109.40	3,494.90	90.00	2,991.56	69.20	2,249.62	67.00	2,247.60	\$19,167.69	\$4,703.37	\$23,871.06	\$0.00	\$12,202.17	\$11,668.91	\$0.00	\$23,871.08

Data Pulled Mar 18, 2020 1:14:11 PM

Idaho Department of Labor - FLSA S - "CVC" Paid Overtime and COMP/VAC Balances As of Pay Date 5/29/20 (5/03/20-5/16/20)

AGENCY	MPLOYEE PC	EMPLOYEE NAME	FLSA CODE	CLASS CODE	CLASS CODE TITLE	EARN BEN DED CODE	PAY RATE	TOTAL HOURS	TOTAL AMOUNT	AS OF PAY DATE	FUND CO	DE TOTAL EXEMPT COMP HOURS	VAC LEAVE BALANCE HOURS
Department of Labor	1724	Eiden, Katherine Anne	S	8825	UI OPERATIONS MANAGER	cvc	29.94	32.1	\$ 961.07	May 29, 2020	0348	114.2	82.4
Department of Labor	1805	Erickson, Eric L	s	8852	SUPERVISOR, LABOR	cvc	26.82	6.2	\$ 166.28	May 29, 2020	0348	28.3	107.7
Department of Labor		Langford, Richard F.	S	8852	SUPERVISOR, LABOR	CVC	27.01	16.0	\$ 432.16	May 29, 2020		80.8	312.6
Department of Labor		Renner-Roby, Kimberly M	S	8852	SUPERVISOR, LABOR		31.39			May 29, 2020		144.2	47.6
Department of Labor	1023	Beggs, Joleen	S	4245	FINANCIAL SPECIALIST, SR.		28.84			May 29, 2020	0348	10.0	103.4
Department of Labor		Centeno. Norma L	S	4245	FINANCIAL SPECIALIST, SR.		22			May 29, 2020		3.1	21.1
Department of Labor		Crowe, Pamela J	S	4245	FINANCIAL SPECIALIST, SR.		31.97			May 29, 2020		0.0	90.7
Department of Labor		de Luna, Adriana	g.	4245	FINANCIAL SPECIALIST, SR.	cvc	22	7.0	\$ 154.00	May 29, 2020		1.0	25.3
Department of Labor		Ellis, Brenda L	0	4245	FINANCIAL SPECIALIST, SR.	010	22		0 104.00	May 29, 2020		2.2	46.6
Department of Labor		Foster, Robert C	9	4245	FINANCIAL SPECIALIST, SR.		22			May 29, 2020		10.6	25.5
Department of Labor		Gardner, Carolee M	S	4245	FINANCIAL SPECIALIST, SR.	CVC	23.4	7.0	\$ 163.80	May 29, 2020		0.0	89.5
Department of Labor		Gerdes, Dixie L	9	4245	FINANCIAL SPECIALIST, SR.	CVC	22	7.0	\$ 103.00	May 29, 2020		3.6	27.1
Department of Labor Department of Labor		Kinney, William A	8	4245	FINANCIAL SPECIALIST, SR. FINANCIAL SPECIALIST, SR.		30.74			May 29, 2020 May 29, 2020		15.5	288.0
Department of Labor Department of Labor		Kinney, William A Luna, Blanca R	S	4245	FINANCIAL SPECIALIST, SR. FINANCIAL SPECIALIST, SR.		23.4			May 29, 2020 May 29, 2020		15.5	288.0
Department of Labor Department of Labor		Luna, bianca R Luna. Noelia	S	4245	FINANCIAL SPECIALIST, SR. FINANCIAL SPECIALIST, SR.	CVC	26.79	40.0	\$ 1.071.60	May 29, 2020 May 29, 2020		134.3	305.5
			-							2			
Department of Labor		Murphy, Wendy J	S	4245	FINANCIAL SPECIALIST, SR.	CVC	23.29	13.9		May 29, 2020		14.2	258.2
Department of Labor		Patera, Eric R		4245	FINANCIAL SPECIALIST, SR.	CVC	27.82	16.0	\$ 445.12	May 29, 2020		240.0	288.0
Department of Labor		Rogers, Karen A	S	4245	FINANCIAL SPECIALIST, SR.		25.68			May 29, 2020		0.0	69.7
Department of Labor		Rosenberger, Kevin Robert	S	4245	FINANCIAL SPECIALIST, SR.		24.02			May 29, 2020		0.0	75.2
Department of Labor		Schieno, Julie	S	4245	FINANCIAL SPECIALIST, SR.	CVC	22.59	6.0		May 29, 2020		25.2	99.5
Department of Labor		Thill, Michael Ben	S	4245	FINANCIAL SPECIALIST, SR.	CVC	26.01	16.0	\$ 416.16	May 29, 2020		8.0	85.7
Department of Labor		Hale, Carrie L	S	8820	UI AREA SUPERVISOR		26.55			May 29, 2020		11.0	218.7
Department of Labor		Henry, Joanna J	S	8820	UI AREA SUPERVISOR	CVC	31.09	14.5		May 29, 2020	0348	240.0	320.1
Department of Labor	3017	Ingram, Lawrence T	S	8824	UI COMPLIANCE BUREAU CHIEF	CVC	47	12.0	\$ 564.00	May 29, 2020	0348	5.0	336.0
Department of Labor	3022	Wauhob, Kevin C	S	8825	UI OPERATIONS MANAGER	CVC	33.56	40.5	\$ 1,359.18	May 29, 2020	0348	230.5	336.0
Department of Labor	3033	Baker, Sandra K.	S	8826	UI TAX REPRESENTATIVE		23.4			May 29, 2020	0348	0.0	256.3
Department of Labor	2576	Bennett, Danette E	S	8826	UI TAX REPRESENTATIVE		19.53			May 29, 2020	0348	0.5	53.6
Department of Labor	1040	Hofland, Casey J	S	8826	UI TAX REPRESENTATIVE	CVC	18.86	0.2	\$ 3.77	May 29, 2020	0348	18.0	64.7
Department of Labor	3014	Kirby, Karen L.	S	8826	UI TAX REPRESENTATIVE		21.93			May 29, 2020	0348	0.0	130.3
Department of Labor	1046	McFadden, Danielle Shea	S	8826	UI TAX REPRESENTATIVE	CVC	18.86	1.0	\$ 18.86	May 29, 2020	0348	0.0	36.9
Department of Labor	3076	Sheffler, Charlene L	S	8826	UI TAX REPRESENTATIVE		30.31			May 29, 2020	0348	0.0	152.5
Department of Labor	3179	Teets, Kieron Faye	S	8826	UI TAX REPRESENTATIVE		18.86			May 29, 2020	0348	0.0	75.1
Department of Labor	1789	Whitaker, Shelbe D	S	8826	UI TAX REPRESENTATIVE		18.86			May 29, 2020	0348	0.0	27.8
Department of Labor	1031	Cassel, Jaimie L	S	8893	UI TECHNICAL SERVICES SPECIALIST	CVC	22.01	5.0	\$ 110.05	May 29, 2020	0348	4.5	69.0
Department of Labor	1914	Dixon, Joel T	S	8893	UI TECHNICAL SERVICES SPECIALIST		29.59			May 29, 2020	0348	0.0	302.0
Department of Labor	1059	Heath, Maureen Catherine	S	8893	UI TECHNICAL SERVICES SPECIALIST		21.28			May 29, 2020	0348	3.0	76.6
Department of Labor	2575	Huyck-Olsen, Melisa A	s	8893	UI TECHNICAL SERVICES SPECIALIST	cvc	30.34	41.3	\$ 1,253.04	May 29, 2020	0348	116.7	333.9
Department of Labor	2573	Richmond, Mark E	s	8893	UI TECHNICAL SERVICES SPECIALIST		25.13			May 29, 2020	0348	5.0	127.3
Department of Labor	2574	Souza, Jennifer	S	8893	UI TECHNICAL SERVICES SPECIALIST	CVC	29.91	12.5	\$ 373.88	May 29, 2020		69.5	205.7
Department of Labor	3152	Clink, Penny	S	8899	UI REVENUE QUALITY CONTROL ANALYST		28.31			May 29, 2020		0.0	226.3
Department of Labor	2815	Prudent, Charles L	S	8825	UI OPERATIONS MANAGER	CVC	27.73	16.7	\$ 463.09	May 29, 2020		73.2	185.4
Department of Labor		Bernal-Hall, Erika Ann	S	8852	SUPERVISOR, LABOR	CVC	21.28	6.4		May 29, 2020		14.1	37.0
Department of Labor		Mattson, Elaine R	s	8852	SUPERVISOR, LABOR	CVC	22.04	6.5		May 29, 2020		58.5	258.4
Department of Labor		Mayo, Dustin	S	8852	SUPERVISOR, LABOR	1 1	21.28	0.0		May 29, 2020		10.8	35.0
Department of Labor		Murphy, Bea L	S	8852	SUPERVISOR, LABOR	CVC	26.88	14.9	\$ 400.51	May 29, 2020		43.1	223.0
Department of Labor		McKenna, Joshua M	S	8882	SUPERVISOR, LABOR		45.41	14.0	- 400.01	May 29, 2020		81.2	287.5
Department of Labor		Fontaine, Gretchen Renee	S	8884	UI TECHNICAL SERVICES SUPERVISOR	CVC	29.37	28.0	\$ 822.36	May 29, 2020		62.5	286.5
Department of Labor		Rogers, Pamela K	S	8884	ULTECHNICAL SERVICES SUPERVISOR	0.0	38.15	26.0	÷ 022.30	May 29, 2020		62.5	295.0
Department of Labor		Allen, Johny Leigh	S	8893	UI TECHNICAL SERVICES SUPERVISOR UI TECHNICAL SERVICES SPECIALIST		23.34			May 29, 2020 May 29, 2020		56.9	186.3
Department of Labor Department of Labor		Reeder, Leah M.	S	8893	UI TECHNICAL SERVICES SPECIALIST	CVC	24.64	8.0	\$ 197.12	May 29, 2020 May 29, 2020		29.2	100.
			S	8893		CVC		8.0	ø 197.12				
Department of Labor Department of Labor		Smith, Tyler John	8	8893 8898	UI TECHNICAL SERVICES SPECIALIST UI PROGRAM REVIEW ANALYST		24.14			May 29, 2020		52.5	283.1
		Downey, Dorsey L	8							May 29, 2020		30.0	172.4
Department of Labor	1766	Pinter, Justin J	S	8898	UI PROGRAM REVIEW ANALYST		27.83		\$ 10.565.58	May 29, 2020	U348	21.5	225.7

\$ 10,565.58

Idaho Department of Labor - FLSA S - "CVC" Paid Overtime and COMP/VAC Balances As of Pay Date 6/12/20 (5/17/20-5/30/20)

AGENCY	MPLOYEE PC	EMPLOYEE NAME	FLSA CODE	CLASS CODE	CLASS CODE TITLE	EARN BEN DED CODE	PAY RATE	TOTAL HOURS	TOTAL AMOUNT	AS OF PAY DATE FUND COD	TOTAL EXEMPT COMP HOURS	VAC LEAVE BALANCE HOURS
Department of Labor	1724	Eiden, Katherine Anne	S	8825	UI OPERATIONS MANAGER	CVC	29.94	30.5	\$ 913.17	Jun 12, 2020 0348	124.2	92.0
Department of Labor	1805	Erickson, Eric L	s	8852	SUPERVISOR, LABOR	cvc	26.82	5.0	\$ 134.10	Jun 12, 2020 0348	28.3	114.6
Department of Labor	2161	Langford, Richard F.	s	8852	SUPERVISOR, LABOR	cvc	27.01	10.2	\$ 275.50	Jun 12, 2020 0348	81.8	320.5
Department of Labor	2089	Renner-Roby, Kimberly M	S	8852	SUPERVISOR, LABOR		31.39			Jun 12, 2020 0348	58.1	155.4
Department of Labor	1023	Beggs, Joleen	S	4245	FINANCIAL SPECIALIST, SR.		28.84			Jun 12, 2020 0348	35.0	119.0
Department of Labor	1045	Centeno, Norma L	S	4245	FINANCIAL SPECIALIST, SR.		22			Jun 12, 2020 0348	3.1	29.3
Department of Labor	1732	Crowe, Pamela J	s	4245	FINANCIAL SPECIALIST, SR.		31.97			Jun 12, 2020 0348	0.0	98.7
Department of Labor	1005	de Luna, Adriana	S	4245	FINANCIAL SPECIALIST, SR.		22			Jun 12, 2020 0348	1.0	27.9
Department of Labor	3181	Ellis, Brenda L	S	4245	FINANCIAL SPECIALIST, SR.		22			Jun 12, 2020 0348	4.1	48.5
Department of Labor	1035	Foster, Robert C	S	4245	FINANCIAL SPECIALIST, SR.		22			Jun 12, 2020 0348	11.6	34.8
Department of Labor	3151	Gardner, Carolee M	s	4245	FINANCIAL SPECIALIST, SR.	CVC	23.4	4.0	\$ 93.60	Jun 12, 2020 0348	0.0	86.9
Department of Labor	1086	Gerdes, Dixie L	S	4245	FINANCIAL SPECIALIST, SR.	cvc	22	1.0	\$ 22.00	Jun 12, 2020 0348	3.6	36.4
Department of Labor	1084	Kinney, William A	S	4245	FINANCIAL SPECIALIST, SR.		30.74			Jun 12, 2020 0348	15.5	288.0
Department of Labor	3180	Luna, Blanca R	S	4245	FINANCIAL SPECIALIST, SR.		23.4			Jun 12, 2020 0348	9.0	81.5
Department of Labor	1082	Luna, Noelia	S	4245	FINANCIAL SPECIALIST, SR.	cvc	26.79	14.5	\$ 388.46	Jun 12, 2020 0348	134.3	314.2
Department of Labor	3029	Murphy, Wendy J	S	4245	FINANCIAL SPECIALIST, SR.	cvc	23.29	2.6	\$ 60.55	Jun 12, 2020 0348	13.7	264.8
Department of Labor	3132	Patera, Eric R	s	4245	FINANCIAL SPECIALIST, SR.	CVC	27.82	23.0	\$ 639.86	Jun 12, 2020 0348	240.0	288.0
Department of Labor	1085	Rogers, Karen A	S	4245	FINANCIAL SPECIALIST, SR.		25.68			Jun 12, 2020 0348	0.0	82.7
Department of Labor	1721	Rosenberger, Kevin Robert	S	4245	FINANCIAL SPECIALIST, SR.		24.02			Jun 12, 2020 0348	0.0	86.2
Department of Labor	1083	Schieno, Julie	S	4245	FINANCIAL SPECIALIST, SR.	cvc	22.59	4.5	\$ 101.66	Jun 12, 2020 0348	25.2	104.5
Department of Labor	3011	Thill, Michael Ben	S	4245	FINANCIAL SPECIALIST, SR.	cvc	26.01	8.0	\$ 208.08	Jun 12, 2020 0348	8.0	93.5
Department of Labor	1004	Hale, Carrie L	s	8820	UI AREA SUPERVISOR		26.55			Jun 12, 2020 0348	3.5	230.5
Department of Labor		Henry, Joanna J	S	8820	UI AREA SUPERVISOR	CVC	31.09	8.0	\$ 248.72	Jun 12, 2020 0348	240.0	327.3
Department of Labor	3017	Ingram, Lawrence T	S	8824	UI COMPLIANCE BUREAU CHIEF	CVC	47	10.0	\$ 470.00	Jun 12, 2020 0348	5.0	336.0
Department of Labor		Wauhob, Kevin C	s	8825	UI OPERATIONS MANAGER	CVC	33.56	37.6	\$ 1.261.86	Jun 12, 2020 0348	230.5	336.0
Department of Labor		Baker, Sandra K.	S	8826	UI TAX REPRESENTATIVE		23.4			Jun 12, 2020 0348	0.0	269.3
Department of Labor		Bennett, Danette E	S	8826	UI TAX REPRESENTATIVE		19.53			Jun 12, 2020 0348	0.5	62.8
Department of Labor	1040	Hofland, Casev J	s	8826	UI TAX REPRESENTATIVE		18.86			Jun 12, 2020 0348	2.0	69.9
Department of Labor		Kirby, Karen L.	S	8826	ULTAX REPRESENTATIVE		21.93			Jun 12, 2020 0348	0.0	139.5
Department of Labor		McFadden, Danielle Shea	S	8826	UI TAX REPRESENTATIVE		18.86			Jun 12, 2020 0348	0.0	38.4
Department of Labor		Sheffler, Charlene L	S	8826	ULTAX REPRESENTATIVE		30.31			Jun 12, 2020 0348	0.0	147.5
Department of Labor		Teets. Kieron Fave	S	8826	ULTAX REPRESENTATIVE		18.86			Jun 12, 2020 0348	0.0	84.3
Department of Labor		Whitaker, Shelbe D	S	8826	UI TAX REPRESENTATIVE		18.86			Jun 12, 2020 0348	0.0	29.0
Department of Labor		Cassel, Jaimie L	S	8893	UI TECHNICAL SERVICES SPECIALIST		22.01			Jun 12, 2020 0348	4.5	70.8
Department of Labor		Dixon, Joel T	S	8893	UI TECHNICAL SERVICES SPECIALIST		29.59			Jun 12, 2020 0348	0.0	315.0
Department of Labor		Heath, Maureen Catherine	S	8893	UI TECHNICAL SERVICES SPECIALIST		21.28			Jun 12, 2020 0348	4.5	85.9
Department of Labor		Huvck-Olsen, Melisa A	s	8893	UI TECHNICAL SERVICES SPECIALIST	CVC	30.34	43.8	\$ 1.328.89	Jun 12, 2020 0348	116.7	336.0
Department of Labor	2573	Richmond, Mark E	s	8893	UI TECHNICAL SERVICES SPECIALIST	CVC	25.13	5.5	\$ 138.22	Jun 12, 2020 0348	5.0	137.2
Department of Labor	2574	Souza, Jennifer	S	8893	UI TECHNICAL SERVICES SPECIALIST	CVC	29.91	13.3	\$ 397.80	Jun 12, 2020 0348	69.5	213.9
Department of Labor		Clink, Penny	S	8899	UI REVENUE QUALITY CONTROL ANALYST		28.31			Jun 12, 2020 0348	0.0	239.3
Department of Labor	2815	Prudent, Charles L	S	8825	UI OPERATIONS MANAGER	CVC	27.73	3.0	\$ 83.19	Jun 12, 2020 0348	73.2	191.6
Department of Labor		Bernal-Hall, Erika Ann	S	8852	SUPERVISOR, LABOR		21.28			Jun 12, 2020 0348	10.3	41.6
Department of Labor		Mattson, Elaine R	S	8852	SUPERVISOR, LABOR		22.04			Jun 12, 2020 0348	63.6	265.8
Department of Labor		Mayo, Dustin	s	8852	SUPERVISOR, LABOR		21.28			Jun 12, 2020 0348	14.3	44.4
Department of Labor		Murphy. Bea L	S	8852	SUPERVISOR, LABOR	CVC	26.88	8.0	\$ 215.04	Jun 12, 2020 0348	43.1	214.7
Department of Labor		McKenna. Joshua M	S	8882	SUPERVISOR, LABOR		45.41	0.0	210.04	Jun 12, 2020 0348	118.6	304.1
Department of Labor		Fontaine, Gretchen Renee	S	8884	UI TECHNICAL SERVICES SUPERVISOR		29.37			Jun 12, 2020 0348	76.5	288.0
Department of Labor		Rogers, Pamela K	s	8884	UI TECHNICAL SERVICES SUPERVISOR		38.15			Jun 12, 2020 0348	91.3	310.6
Department of Labor		Allen, Johny Leigh	S	8893	UI TECHNICAL SERVICES SPECIALIST		23.34			Jun 12, 2020 0348	74.5	201.0
Department of Labor		Reeder, Leah M.	S	8893	UI TECHNICAL SERVICES SPECIALIST	CVC	24.64	4.0	\$ 98.56	Jun 12, 2020 0348	29.2	58.8
Department of Labor		Smith. Tyler John	S	8893	UI TECHNICAL SERVICES SPECIALIST	010	24.14	4.0	⇒ 80.00	Jun 12, 2020 0348	68.5	278.2
Department of Labor		Downey, Dorsey L	8	8898	UI PROGRAM REVIEW ANALYST		30.08			Jun 12, 2020 0348	45.0	186.6
Department of Labor		Pinter, Justin J	S	8898	UI PROGRAM REVIEW ANALYST		27.83			Jun 12, 2020 0348	35.5	239.5
Department of Labor	1/00	i maci, odbuli d	3	w.50	OTT NOOLONG REVIEW ANALTST		21.00		\$ 7.079.26	Juli 12, 2020 0340	35.5	239.5

\$ 7,079.26